AUM Z351
T RIT S HR

RO

m FOERAIR

m SRR

m  BEESHIEHSRREEEKENTIFSEZEH
m SEEN5IEED




AUM1 &

B BREESHHIION
B RXKEEHHLIT6N

I

i

AUM1 AUM1-S1 AUM1-S2 AUM1-S3 AUM1-S4
HRESE Bafy REX EREX EREX EREX
R0, 4B @100°C N 3.0 6.0 8.9 11.9
&S N 11.9 23.8 35.7 476
EEHERL N/SqRt(W) 1.67 242 2.98 3.46
FEEINER W 32 6.1 9.0 11.8
[ESEIES W 50.9 97.1 1433 189.6
ESEHR mm 21 21 21 21
BRAGEBE % 60 60 60 60
BALBIRE °C 125 125 125 125
PHEREEL W/°C 0.04 0.08 0.12 0.16
FFEEEE Arms 17 17 1.7 1.7
BB Arms 6.8 6.8 6.8 6.8
NEH N/Arms 1.75 3.50 5.25 7.00
REEFNEEEL Vpeak/(m/s) 14 2.9 43 5.7
FBRK mH 0.11 0.22 031 0.41
KiREBE@25°C Ohms 1.10 2.10 3.10 4.10
FBSATEIE SN ms 0.10 0.10 0.10 0.10
s
ZERE g 25.0 50.0 75.0 100.0
ZERKE mm 22 43 64 85
HERE (B63%K) g 149
ASE1Va) N 0

FEEDIIHE T RALE LN—RERKE. 2 BEE. BEN 12 2XRAVER.




AUM1 HFIRYT

E -Mounting Hal
M2.5x0.45 Dep 5.0
- (\ - - J
‘ Pitck | Hall Moolule
(Optional)
.
f o) [5) o) .
—High=Flex
1 O 0 O /' Haoll Sensor Caoble @3.8
/ Min. Bending Radius =38
High=F lex— /
Motor Coble @41 \ f
Combining Track Min, Bending Rodius =410 / 19.0 19.0
0.3 / ‘ |

| | )ﬁﬂﬂﬁpwjﬂf?

QOO | ©PO0OOOBVOBOO® | , Lo

7 1
A | = / Pitch
Track Length Without With
- 2 : - Hall Module Hall Module
Optior p tiot
G -Mounting Holes, 835 thru’ /[
C'k ®6.0 Dey Both sid /
| -Mounting M3x05 De )
1.0 10 1385 _
= = = Pitch | |
N\
< o o o) d o o
pd
Motor Coil Motor Track
Coil Track
Model No: Length E A Model No: Length H
AUM1-S1 22.0 4 12.0 AUM1-TLE3 | 62.7 2 3
AUM1-S2 43.0 6 16.5 AUM1-TL8B4 | 83.7 3 4
AUM1-S3 64.0 8 18.0 AUM1-TL105 | 104.7 4 5
AUM1-84 85.0 8 25.0

YR IE

FtE
BS BN RI ERIER=RE BEKE (m) BRI

gL o
AUM1 S = Bt 51-54 NH = FEE/RIEREE EHh 0.3 (300mm) =
= - = VA biins
N oD 1.0 (1000mm) FB =#5EREA

5Cf5): AUM1-S-S2-0.3; AUM1-S-NH-0.3; AUM1-S-S2-H9D-0.3; AUM1-S-S2-H9D-0.3-FB

EEHLREEN
BS HERE
AUM1 TL63/ TL84/ TL105

5fl: AUM1-TL63

1 FIR=TFEERERESER , BYRIEL N ()
2 HI9D =FE/REEHA&RIRLA 9-Pins D-Sub #23L
3 =GR (TVE)

o 9’ Rl A




AUM2 #1#§

B XS4

B RAEENDL764

AUM2 AUM2-S1| AUM2-S2 AUM2-S3 AUM2-S4 AUM2-S8
HaES =<1} HREX BEX  HEX  SREX  FEX REX  HEX  BREX HEX
54877,4:E @100°C N 8.8 17.6 264 35.2 70.4
&S N 44.0 88.0 132.0 176.0 352.0
ERANESL N/SqRt(W) 3.05 431 5.28 6.10 8.63
RHEIhE w 8.3 16.6 25.0 333 66.6
IEE{ETh=R w 208 416 624 832 1,664
EES[EHA mm 30 30 30 30 30
BREE&BE % 330 330 330 330 330
RAZERE °C 125 125 125 125 125
PR wyeC 0.11 0.22 0.33 0.44 0.89
R Arms 16 1.6 3.2 1.6 3.2 16 3.2 1.6 3.2
BB Arms 8.0 8.0 16.0 | 8.0 16.0 | 80 160 | 8.0 16.0
FIEE N/Arms 5.5 11.0 5.5 16.5 8.3 220 | 11.0 | 440 | 220
REBENBEE Vpeak/(m/s) 45 9.0 45 13.5 6.7 180 | 9.0 | 359 | 180
Fa Rk mH 0.75 150 | 038 | 225 | 056 | 3.00 | 0.75 | 6.00 | 1.50
KiIRFEH@25°C Ohms 3.25 650 | 163 | 975 | 244 | 13.00 | 3.25 | 26.00 | 6.50
FSETEEEL ms 0.23 023 [ 023 | 023 | 023 | 023 | 023 | 023 | 023
NS
ZERE Kg 0.059 0.118 0.177 0.236 0.472
ZEKE mm 31 61 91 121 241
HERE(B120%2X) Kg 0.468
IR N 0

FEENNUHETRRAELE LR—REKE. 2 EEE. EEN 12 EXRAEE.

11




AUM2 H5IRYT

E -Mounting Holes

M3x0.5 Dep 6.0—\

High-Flex

Motor Cobles 26.0 & #3.8

F -Mounting Holes

M3x0.5 Dep 5.0

Cambining Tracks
0.3

Clearance

Min, Bending Radius =60.0

High—Flex
Motor Cobles 96.0 & ®38
Min. Bending Radius =600

\—E -Mounting Holes

M3x0.5 Dep 6.0

n
=

300 . 300 50.5
380
28.0
T TR T K
g | | | 3 =
S i S S Y S 'S Lo 4 (o]
b33
‘ 6L0 (se> B 20 seq|
91.0 (83 310 8D
121.0 (S4)
F Mnuntmg Holes
M3x0.5 Dep S.
300 300 555
g | | | SGD 14|J 8.5
== ﬁ ﬁ» *1’* ] | —¢~ =

@ ¢ @

o o

0.740.1
Air
Gap

| 60.0

© j@ (ON J" 7%@"" é;i}

60.0 Pitch

55,6101

== 4 |

Track Length

ro

22.0

G -Mounting Holes, M4x0.7 thru’
C’bore#6.0 Dep 3.2 Both sides

;

~Mounting Holes, M5x0.8 Dep 7.0

) 60.0 Pitch P98
; | |

& ¥ + —]

Motor Coil Motor Track

Coil 3 Track
Model No: | | ot E F Model No: | | gy G H
AUM2-S1 31.0 3 2 AUM2-TL120 119.7 2 2
AUM2-S2 61.0 5 5 AUM2-TL180 179.7 3 3
AUM2-83 91.0 7 7 AUM2-TL240 239.7 4 4
AUM2-34 121.0 9 g AUMZ2-TL300 299.7 5 5

YR IE

FatE

me EEm RY Py EREGEED | BMKE (m) | BIRERA
S - Bt s1-s4, i Zsigs
AUM2 K= # : 3.0
p = FtEE s8 =18 HoDs NFBS
5Cfl: AUM2-S-S2-K-3.0; AUM2-S-S2-K-3.0-NFB; AUM2-S-S2-K-H9D-3.0; AUM2-S-S2-K-H9D-3.0-NFB

AL

Bs HEIRE
AUM?2 TL120/ TL180/ TL240/ TL300

fl: AUM2-TL120
1 HENERAT S1 BSHE4E
2 K= PT100 (RTD)@ AUM2 ftREELE |, e NERTIRIR R Aan 728
3 THR= TENEERERRR BN (R
4 HIOD =FE/REBSE&IRHSLA 9-Pins D-Sub ek
5 =tg= WHEIR (R
6 NFB =R

>

R F A&

www.hzmosén.com




AUMS3 &

B SRS 1444

B RAIEESS764

—

AUM3 AUM3-S1| AUMS3-S2 AUM3-S3 AUM3-S4 AUM3-S6
HaESE Bafy REX REX  HEX  EREX  FEX  EREX  FHEX  BREX HEX
ELES], B @100°C N 28 57 85 113 170
ELN, SR B @100°C N 34 68 102 136 203
L, KR LB @100°C N 37 73 110 147 220
IEES N 144 289 433 578 867
RS N/SqRt(W) 7.2 10.2 12,5 14.5 17.7
FERTNER w 15.2 30.5 457 60.9 91.4
IEE{ETh=R w 398 796 1,193 1,591 2,387
FESEHA mm 60 60 60 60 60
BRAREBE v 330 330 330 330 330
BAZERE °C 125 125 125 125 125
PFERELL wyeC 0.20 0.41 0.61 0.81 1.22
KRR Arms 1.8 1.8 3.6 18 36 1.8 36 1.8 3.6
R SR Arms 2.2 2.2 43 2.2 43 2.2 43 2.2 43
R KR Arms 23 2.3 47 2.3 47 23 4.7 23 4.7
BB Arms 9.2 92 | 184 | 92 | 184 | 92 | 184 | 9.2 | 184
HEH N/Arms 15.7 314 | 157 | 471 | 236 | 628 | 314 | 942 | 47.1
REBENBEE Vpeak/(m/s) 12.8 256 | 128 | 385 | 19.2 | 513 | 256 | 769 | 385
F Rk mH 3.13 626 | 1.57 | 939 | 235 | 1252 3.13 | 18.78 | 4.70
ZKinHFEH@25°C Ohms 4.70 9.40 | 2.35 | 14.10| 3.53 | 1880 | 4.70 | 28.20| 7.05
FESEEEE ms 0.67 067 | 067 | 067 | 067 | 067 | 0.67 | 067 | 0.67
NS
ZERE Kg 0.22 0.45 0.68 0.91 1.37
ZEKE mm 61 121 181 241 361
HERE(E1202X) Kg 1.00
R34 N 0

AC-=S&HD, WC-7Ki@4D

FHEBNNHETREAELE LA—RERKE, 2 ERE. BERN 12 2XAEE.




AUM3 EF5IR

E -Mounting Holes Coll Length
M4x0.7 Depl2 U\\l-'\ e -‘
i o ) ]
o o
™
! = g = = Standard Air Cooled Water Cooled
30.0 30.0 | ‘155 Motor Coil Motor Coil Motor Coil
Pitch
Air Input Port Water Ports
High-Flex M5x0.8 Depl0.0 M5x0.8 Depl0.0
Motor Cobles 860 & 838 " 35.0 . 35.0
Combining Tracks Min. Bending Radlius ‘Gg 35.0 ”\; '\*}: 7.8 rf_%
— = -
0.5 —
— ) 0 Tt o] |
Clearance g g t 9 S 1 2l
| \ 0.9401 g s 9
| | 2 9 2 = I
I 1N| O | ™~ N
© 0 6 ©® 0 @ ©_§@___®_©_@ ® 0 1 t
eoo| | f | Pitch 600 _|po7s| © 355 3.9 33.3
/ A
/ Track Length
/
G -Mounting Holes, i‘/ Moator Coil Motor Track
M5x0.8 thru’ / )
C'bore®75 Dept.35 ;"ﬂ ~H -Mounting Holes *Madel No: Lc(e:nmlth Model No: l:crn G H
Both sides -/ / M5x0.8 Dep8.0 Ol 9 gl
/ . P AUM3-81 61.0 3 AUM3-TL120 | 1195 2 2
/ Pitch 600 _2223 t 1
/ - AUM3-S2 121.0 7 AUM3-TL180 | 179.5 3 3
"" 1 } AUM3-S3 181.0 11 AUM3-TL240 239.5 4 4
o o o o—1—1 AUM3-S4 241.0 15 AUM3-TL300 299.5 5 5
* For air or water cooled models, AUM3-TL600 | 5995 10 10
Coil Length and E are the same as L L
the standard model.
+
afariI e
FNL&E
= -, » 1 ==/ 9 -, N
Bs 2EBR EERE RI e ERERREE | BIKE (m) | HIFRER
=a _ PN
THE=BRLH
N S= EREX | S1-S4, J = B Thg? =HE4
AUM3 | A =554 " 30
- P = FHEX S6 K= #e8 HOD3 NFB>
W = 7Ki@ED

S26: AUM3-S-S2-J-3.0 ;

AUM3-5-52-J-3.0-NFB ;

EE LR
8BS HEISE
AUM3 TL120/ TL180/ TL240/ TL300/ TL600O
£fl: AUM3-TL600

vl A W N R

NFB =FHHEER

HEERERT S1 BISHN&E
THE= TENBEEREESE  BRERLAI S (T8
HOD =E/REE4T&IRLJ9 9-Pins D-Sub #k
THE= SR (R

14

AUM3-5-52-J-H9D-3.0 ; AUMS3-5-S2-J-HI9D-3.0-NFB

R F L&

www.hzmosen.com




AUMA4 11§

B RXFEI3364

AUM4

O

B SKIEEN18724 ] ]H ’ L
1] M nin | R |

AUM4 AUM4-S1 AUM4-S2 AUM4-S3 AUM4-S4
RS H =Ty 563 )53 FHEX )53 FHEX 553 FHEX
EER, 2B @100°C N 55 110 166 221
TSN, S8 2B @100°C N 66 132 199 265
LS, 7K0& B @100°C N 77 154 230 307
(& N 312 624 936 1,248
ERHLEEL N/SqRt(W) 11.2 15.8 19.4 224
SRR w 243 48.7 73.0 97.3
BT W 777 1,555 2,332 3,110
FSEHA mm 60 60 60 60
RARLEE v 330 330 330 330
BALEIRE °C 125 125 125 125
PAEREE wyeC 0.32 0.65 0.97 1.30
RS Arms 2.3 2.3 46 2.3 46 2.3 46
RS Arms 2.8 2.8 5.5 2.8 5.5 2.8 5.5
25 dz2h ) O Arms 3.2 3.2 6.4 3.2 6.4 3.2 6.4
IE{EFE 7T Arms 13.0 13.0 26.0 13.0 26.0 13.0 26.0
NEH N/Arms 24.0 480 24.0 72.0 36.0 96.0 48.0
REBRNFEEEL Vpeak/(m/s) 19.6 39.2 19.6 58.8 29.4 78.4 39.2
EB/R% mH 3.50 7.00 1.75 10.50 2.63 14.00 3.50
LIRFEA@25°C Ohms 4.60 9.20 2.30 13.80 3.45 18.40 4.60
FSATEEE ms 0.76 0.76 0.76 0.76 0.76 0.76 0.76
NimSE
HERE Kg 0.28 0.56 0.89 1.19
ZEKE mm 61 121 181 241
HHRE (B1202K) Kg 1.77
ASELDE! N 0

AC-Z=584D, WC-7KiSHD

FEREONHETLREELE EN—REKE. 2 E5E. EEHN 12 ZKA9EE.

$84#I AUMA4-S2 [iRE: 3009

15




AUM4 AUM4-S5 AUM4-S6 AUM4-S8
ESEE =T} HREX FHEX EREX FHEX HREX FHEX
EEN, 2B @100°C N 276 331 442
EEN, 52 5B @100°C N 331 397 530
LS, KIS 2B @100°C N 384 461 614
(=31=pa} N 1,560 1,872 2,496
FRHLEE N/SqRt(W) 25.0 27.4 31.65
FEEINER W 121.7 146.0 194.7
IE{EThER W 3,887 4,664 6219.2
FHSEEA mm 60 60 60
BAEEBE % 330 330 330
RALEIRE °C 125 125 125
PEERRE W/°C 1.62 1.95 2.60
RHERERIR Arms 2.3 46 23 46 2.3 46
RHRRBR SR Arms 2.8 5.5 2.8 5.5 2.8 5.5
FSEREER KIS Arms 3.2 6.4 3.2 6.4 3.2 6.4
IE{EFRI Arms 13.0 26.0 13.0 26.0 13.0 26.0
NEH N/Arms 120.0 60.0 144.0 72.0 192.0 96.0
REBTNFEEL Vpeak/(m/s) 98.0 49.0 117.6 58.8 156.8 78.4
FafEk mH 17.50 438 21.00 5.25 28.00 7.00
KiREE@25°C Ohms 23.00 5.75 27.60 6.90 36.80 9.20
FRSHTAES ms 0.76 0.76 0.76 0.76 0.76 0.76
NS
ZERE Kg 1.49 1.78 237
SERKE mm 301 361 481
HiEhERE (5120%2K) Kg 1.77
S EL vl N 0

AC-ZSiSHD, WC-KQHD

FEENNUHETRRELE LH—REKE. 2 EEE. BEERN 12 EXAEE.

§’

n FhH&

www.hzmosen.com




AUM4 RFIRYT

£ -Mounting Holes

M4x0.7 Depl2.0 Coil Length

AN

38.5
30.0
[ 1/
o o
o o
o o
o

Standard Air Cooled Water Cooled
200 | 300 | | 155 Motor Coil Motor Coil Motor Coil
Pitch Air Input Port Water Ports
High—Flex MSx0.8 Depl0.0 M3x0.8 Depl0.0 /
N\/:rt:n"] :L‘:;CLC’SRWE.C & E%ﬁ 385 385 //
in. Bending Radius = . 385 _ - —\'r’ 19.3 {j) 160
Combining Tracks // ‘ ‘ 0 1 F_‘—‘ ! | |¢/
0.5 I Io] — I o o] 1
Clearance ; L 5] f L g ﬁj, t L 8 &
: - =2
| | T‘ ( - = 3
: : 11£0.1 5 5 e
Air [a¥] o o v I~
! ! J 9 8 g o g 9
| |
S, |
PO | 000 00O 00 OO ' 1
60.0 //’ | pitch 600 | 2975 | © 39.0 39.0 39.0
Track Length o
/
G -Mounting Holes /-/ Motor Coil Motor Track
MoxLD thru' [ ) . . | Coil Length . | Track
C'bored9.0 Depbs.3S / ~H -Mounting 491?5 Model No: g E Model No: Length G H
oo ot des f/ MEx10 Depl20 AUMAST | 610 3 AUMA-TLI20 | 1195 2 2
/’ Pitch &0.0 _ PS.75 AUM4-S2 121.0 7 AUM4-TL180 | 179.5 3 3
/ |—4 AUM4-53 | 1810 11 | AUMA-TL240 | 239.5 4 4
/ o AUM4-54 | 241.0 15 AUMA-TL300 | 299.5 5 5
o o © o —7 AUM4-S5 | 301.0 19 "AUMa-TLE0D | 5995 | 10 0
AUM4-56 361.0 23
* For air or water cooled models,
Coil Length and E are the same as
the standard model.
TN
BiZ%E
BS SHER EEXE ) PUEREE ERERSERE | BEKE (m) | BIFER
=B "
= S= @Bt | S1-S6, | J = MEBIE (ARf) =3t zsige
AUMA | AR o e | s K = #eaiE HoD? 30 NFBS
W = K84
5E6): AUM4-P-S4-J-3.0; AUM4-A-P-S4-J-3.0; AUMA4-S-S2-J-3.0-NFB; AUMA4-S-S2-J-H9D-3.0;
FR LB
Bs HIRE
AUM4 TL120/ TL180/ TL240/ TL300/ TL60O
5Ef: AUM4-TL600
1  HBECRNERT S1 BSH&E
2 THE= mANBEREERE  BRERLAE (T
3 HID =FE/REB#ZLiHSLS 9-Pins D-Sub #£k
4 THE= WEHER (W)
5 NFB =FHHiR

— 7




AUMS &

B SKRFEI7844

B EAIEES56594

.QCJ

iy

lcO

122.0

AUMS5

@ p_L” - [ ]

AUM5 AUMS5-S1  AUMS5-S2 AUMS5-S3 AUM5-S4 AUMS5-S5
HaESE Bl EREX REX  FEX  EBEX  FEX BBEX  FEX EBEX X
ELES], B @100°C N 98 197 295 393 491
BN, SR B @100°C N 118 236 354 472 590
EELESD, KIS B @100°C N 128 255 383 511 639
&S N 707 1,415 2,122 2,830 3,537
EEANESL N/SqRt(W) | 19.2 27.1 332 384 429
SISTHER w 26.3 52.5 78.8 105.0 1313
IEE{ETh=R w 1,361 2,722 4,082 5,443 6,804
FSEHR mm 84.0 84.0 84.0 84.0 84.0
BRAREBE % 330 330 330 330 330
BAZERE °C 125 125 125 125 125
PUEREEL W/°C 0.35 0.70 1.05 1.40 1.75
KRR Arms 25 2.5 5.0 25 5.0 2.5 5.0 2.5 5.0
R SR Arms 3.0 3.0 6.0 3.0 6.0 3.0 6.0 3.0 6.0
R KR Arms 33 33 6.5 33 6.5 33 6.5 33 6.5
IE(EEE TR Arms 18.0 18.0 | 360 | 180 | 360 | 180 | 360 | 18.0 | 36.0
HEH N/Arms 39.3 786 | 393 | 1179 | 59.0 | 157.2 | 786 | 196.5 | 983
REBFNEEE Vpeak/(m/s)| 321 642 | 321 | 963 | 481 | 1284 | 64.2 | 160.4 | 80.2
FR Rk mH 6.50 | 13.00 | 3.25 | 19.50 | 4.88 | 26.00 [ 6.50 | 32.50 | 8.13
KiHFEH@25°C Ohms 4.20 840 | 210 | 12.60 | 3.15 | 16.80 [ 4.20 | 21.00 | 5.25
FESEEEE ms 1.55 155 [ 155 | 1.55 | 1.55 | 1.55 | 1.55 | 1.55 | 1.55
NS
ZBhRE Kg 0.73 1.45 2.16 2.88 3.60
ZEKE mm 85.0 169.0 253.0 337.0 421.0
HWIHERE (B81682K) Kg 4.26
IR N 0
AC-ZS840, WC-7KiS#D
FEENNIRETERELE LN EKE. 2ERE. BEA 12 EXMEE.

— Q’ HHFENE

www.hzmosen.com




AUMS5 AUMS5-S6 AUMS5-S8 AUMS5-S9
o =T} HREX FHEX HREX FHEX HREX FHEX
TELEH, 4B @100°C N 590 786 884
TSN, S8 2B @100°C N 707 943 1,061
TSR, 7KL B @100°C N 766 1,022 1,150
&S N 4,244 5,659 6,367
LR N/SqRt(W) 47.0 54.2 57.5
SEednES W 157.5 210.0 236.3
IE{ETh=R w 8,165 10,886 12,247
FESERA mm 84.0 84.0 84.0
RARLREE % 330 330 330
BAZBIRE °C 125 125 125
POERIRE W/°C 2.10 2.80 3.15
R Arms 2.5 5.0 2.5 5.0 2.5 5.0
SRR S8 Arms 3.0 6.0 3.0 6.0 3.0 6.0
25 dz2h ) O Arms 33 6.5 33 6.5 33 6.5
BB Arms 18.0 36.0 18.0 36.0 18.0 36.0
NEH N/Arms 235.8 117.9 314.4 157.2 353.7 176.9
[REBENEEEL Vpeak/(m/s)| 192.5 96.3 256.7 128.4 288.8 144.4
Rk mH 39.00 9.75 52.00 13.00 58.50 14.63
£RiImEFH@25°C Ohms 25.20 6.30 33.60 8.40 37.80 9.45
FESHTEEZL ms 1.55 1.55 1.55 1.55 1.55 1.55
NS

HERE Kg 432 5.76 6.48
SEKE mm 505.0 673.0 757.0
HHRE (B168%K) Kg 426

AUSELYa N 0

AC-ZSiSHD, WC-KQHD

FEENNUHETRRELE LH—REKE. 2 EEE. BEEN 12 EXAEE.

19




AUMS5 ZE5IR

E- Mounting Holes Coil Length
M5x08 Depl2f—, r ]
1 © 5} o 3
o o
o @Y
| ™
! 4 ® © © Standard Air Cooled Water Cooled
42.0 P15 Motor Coil Motor Coil Motor Coil
Pitch
Air_Input Port Woter Ports
M5x0.8 Depl0.0 M5x0.8 Depl0.0/
High-Flex
Motor Cakles 86,0 & 938 49.0 4390
Min. Bending Radius =60.0 4¢ = mgE = 2l
Combining Tracks ['% '"l - "’l ‘ 4
05 g
o1 g d 1 e 99 < ]
Clearance d = ol ¥ of £
| | -
S
! ‘ 1.0£0.1 3 S S
| | = T B W ™~
| | Gap = Y = N o N
| | g = o =
I [ 7 h 7
| |
- __ J
OH0O | OHO OHO 6 H© | ' |
84.0 __I Pitch 84.0 | 475 | 2 50.0 50.0 50.0
Track Length
G -Mounting Holes, M&6x1.0 thru'
C'bore®3.0 DepS.0 Both sides Motor Cail Motor Track
. . Track
/—H ~Mounting Holes Model No: | Coil Length E Model No: Length G H
M&x1.0 DeplS.0
/’ * F AUMS-82 169.0 7 AUMS-TL1688 167.5 2 2
/ Pitch 84.0 41.75 i AUM5-53 253.0 11 AUMS-TL252 | 2515 3 3
- = AUM5-54 337.0 15 AUMS-TL420 | 4195 5 5
/ o AUMS5-55 421.0 19
Lo} o o} ! AUMS-56 505.0 23
AUMS5-S8 673.0 31
* For air or water cooled models,

YR IE

FtE

Coil Length and E are the same as
the standard model.

= 2B R EEIER R RERNEE ERERSERE | BKE (m) | BIMEIR
o = “k:\/\\i
= Ef"vp S= mEE | S1-S6, |J= A (Ff) zsi? Zspge
AUMS5 A =Z584] . 3.0
P = FEX S8-S9 K = #hea(@ H9D3 NFBS
W = 7Ki&AD
SCfl: AUMS5-P-S4-J-3.0; AUMS5-A-P-S4-)-3.0; AUMS5-S-S2-J-3.0-NFB; AUMS5-S-S2-J-H9D-3.0-NFB

AL

8BS HIKE
AUMS5 TL168/ TL252/ TL420
SCf): AUMS-TL420
1 HECRIERT S1 BSHZ%E
2 THE= HENEERMERRS  BARIRLARE ()
3 HOD =E/REE&5&IRLJ9 9-Pins D-Sub #:k
4 THE= HHHIK (RE)
5 NFB =FHiR

FUNERINEBREERAE Wik www.hzmosen.com

EiEER0571-86622450




